True

enabled

text
enabled

text
text
True False

enabled

4-10
4-11

+ (1) —

1) —
() —

(1) —
(2) —

text —
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4-1  + (1) — —

4-1-1

= ELEI0TSA - O BELEoISL L O

name
JTextFieldl
name . _
JTextField2
JTextFieldResult

JjButtonAdd

void jButtonAdd_actionPerformed(ActionEvent e) {
JTextFieldResult.setText( jTextFieldl.getText()
+jTextField2.getText());
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= LB 7054 2 0K

: 12+34=46
|: BT :I

34

|'II3-1
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4-2

Java
String 12 +34=1234
int 12 + 34 = 46
int integer
text String
text
F1 E 'True .
get... IOueF g [ b
text String

getText /

public Siring getlexti}

Blertienia the feed cosdamed w thas TedCompomend. If the undectyng doowment o5 sull wal gree @ HullPostesBaoe eption

Returms:
the fexdt
See Aleaz
et Texkd jave, lang. 3tring)

text String

text String
String
int
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4-3 — —

Java
Integer _parselnt( D) String.valueOf( )
int Java
Integer parselnt()
String  String String
valueOf()

> "123" 123

Integer.parselnt('123") - 123
> 123 '"123"

String.valueOf(123) - 123"

4-3-1

4-1-1

S ELEo07S54 2 O SELE o754 2 O
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name 4-1-1

12+34

void jButtonAdd_actionPerformed(ActionEvent e) {
JTextFieldResult.setText(String.valueOf(12+34));

}

String.valueOf()
setText

12 - Integer.parselnt(JTextFiledl.getText())
34 - Integer.parselnt(JTextFiled2.getText())
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4-4

Java

Java
1)
(2)
@ * I
(4)

(1) 2

void jButtonAdd_actionPerformed(ActionEvent e) {
JTextFieldResult_setText(JTextFieldl.getText()+jText );
}

void jButtonAdd_actionPerformed(ActionEvent e) {
JTextFieldResult.setText(
JTextFieldl._getText()+jTextField2.getText() );

void jButtonAdd_actionPerformed(ActionEvent e) {

jTextFieIdResult_

TextFieldl.getText()+jTextField2.getText() );
}

)

void jButtonAdd_actionPerformed(ActionEvent e) {
JTextFieldl.setText('abc™);
JTextField2.setText('def™");
JTextFieldResult.setText(JTextFieldl.getText()
+ JTextField2.getText());

}
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{7}

oid jButtonAdd_actionPerformed(ActionEvent e) {
. _
| JTextFieldl.setText('abc™);
! jTextField2.setText("'def"");
'i JTextFieldResult.setText( jTextFieldl.getText()

_: +jTextField2.getText() );

}

{3

(3) Java I* */

1

void jButtonAdd_actionPerformed(ActionEvent e) {

//
JTextFieldResult.setText(

JTextFieldl.getText() 7/

+ jTextField2.getText() /* */
)
}
(4) Java jTextField JTEXTField
jtextfield
jTextField jTextfield

-62 -



4-5 1) — text —

4-5-1

BANEZ/oYSLL O BEANE: 0TS0 (O

name

JTextFieldl

name JTextField2

JButtonSwap

void jButtonSwap_actionPerformed(ActionEvent e) {
JTextFieldl.setText(JTextField2.getText()); 7/ -
JTextField2._ setText(JTextFieldl.getText()); 7/ -
}
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- JTextFieldl.getText()

name Temp

temporary

EALEZ 07542 [OX

ANEA |
| ‘////////// jTextFieldTemp

void jButtonSwap_actionPerformed(ActionEvent e) {
JTextFieldTemp.setText(JTextFieldl.getText()); // - Temp
JTextFieldl._setText(JTextField2.getText()); // -

; //Temp -

EmAhEZI0S54 2 [BK

|
ANWA |
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4-6 2 —

JTextFieldTemp

text

jTextFieldTemp
jTextFieldTemp

void jButtonSwap_ actionPerformed(ActionEvent e) {

String Temp;

jTextFieldTemp

JTextFieldTemp.setText(JTextFieldl.getText()); // - Temp
jJTextFieldl.setText(jTextField2.getText()); // .
JTextField2._setText(JTextFieldTemp.getText()); //Temp -

JTextFieldTemp
JTextFieldTemp.getText()

Temp

Temp

JTextFieldTemp.getText()

String
int Temp;

Temp Temp
Temp
text
String Temp
String Temp; ( int

)
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4-6-1

Temp JTextFieldTemp.getText()

void jButtonSwap_actionPerformed(ActionEvent e) {

String Temp;
Temp = jTextFieldl.getText(); 7/ - Temp
JTextFieldl.setText(JTextField2.getText()); // N

JTextField2.setText(Temp); //Temp-

text String

setText()
String Temp

setText() text
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Temp

void jButtonSwap actionPerformed(ActionEvent e) {

String@ﬁeldl-g@// Temp
JTextFieldl.setText(JTextField2.getText()); 7/
jJjTextField2.setText(Temp); //Temp -

}
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4-6-2

4-3-1

@ ELEI0Y5A L OK

void jButtonAdd_actionPerformed(ActionEvent e) {

int Datal; //

Data2; //

Sum; //
Datal=Integer.parselnt(JTextFieldl.getText());
Data2=Integer.parselnt(JTextField2.getText());

Sum= + ;
JTextFieldResult.setText( );

int a;
int b;

int c;

int a, b, c;

String a;
String b; String a, b, c;
String c;
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4-7

4-7-1

SF970754 [ JOX EE Ty /o756 - OX

Name

hame jTextField1

jTextField2

jTextFieldResult

jButtonAvg

2 2

void jButtonAvg_actionPerformed(ActionEvent e) {
int Datal,Data2,Avg; // Avg Average
Datal=Integer.parselnt(jTextFieldl.getText()); //
Data2=Integer .parselnt(JTextField2._.getText()); //
Avg=(Datal+Data2)/2;
JTextFieldResult._setText(String.valueOFf(Avg));
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BEy7oyss (-0

[t Avg

4-7-2

Avg
double

void jButtonAvg_ actionPerformed(ActionEvent e) {
int Datal,Data2;
double Avg; //
Datal=Integer.parselnt(jTextFieldl.getText());
Data2=Integer.parselnt(JTextField2.getText());
Avg=(Datal+Data2)/2.0;
JTextFieldResult._setText(String.valueOF(Avg));

String.valueOf )

2 2.0
Avg=(Datal+Data2)/2

Datal Data2
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String.valueOFf(Q)
Integer.parselnt()
String.valueOFQ

Double.parseDouble()

int a;
double b=1.5;
a=(int) (b);

Java

Java

Java

11%3 - 2 11%4 - 3
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a=a+b

+= a+=b a=a+b
-= a-==>b a=a->b
*= a*=b a=a*hb
/= a/=»b a=-a/b
%= a %= b a=-a%hb
a+=b a+ =b
++ a++ ++a a+1
_ a-- —-a a-1
a++ ++a
++a
int a=1,b; int a=1,b;
b=++a; [ | amat; —)
b=a;
a++
int a=1,b; ---A | Int a=1,b; :
b=a++; "7 | b=a;
a=a+l;
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4-7-3

= FE 054

Ry

P.H?J:’i:ﬂ 3333333335

4-7-A

EosEN T IorsL 20X

___________ T TE R paaasmaaﬁﬁaaaﬁm

4-7-2
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4-8-1

=i sEEnysAL OK

1 zeyEmE 3
| Ly |
2 4 ffEE I

=i RmE o756k DK

1 2 &l

12

2 AiEE 15

void jButtonKansan_actionPerformed(ActionEvent e) {
int Timel2,Time24;
Timel2=Integer .parselnt(JTextFieldl.getText());

Time24=Timel2+ ;
JTextFieldResult.setText(String.valueOf(Time24));
}
name
JTextFieldl
JTextFieldResult
JButtonKansan
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4-8-2

2000

TFaamie ||':| ——

4 i M oo

12 2000
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4-9 (2) — —

4-9-1

HMisstt 70754 (- 0K

Hanako

et |

EMissttii70754 (- [OX

Heanako - Miss

hISSHiﬂiHD

Miss Mr.

name name
JTextFieldl
JTextField2

JButtonMiss

void jButtonMiss actionPerformed(ActionEvent e) {
String Name,MissName;
Name=jTextFieldl.getText(); //

MissName= + Name; //Miss
JTextField2._ setText(MissName);
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4-9-2

BehttTodsA - (O BEsAH T IoTS5L L DX
= mErm | -

4-9-3
Hello, Javal

| o | | Feo e ok |
4-9-A

SMEaErkna/odsA 0 [OX BEEEERHa 07542 (O

fz003

| PEEI I004FTT.
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4-10 — —

A
1
name name
JTextFieldl
JjButtoninc
JTextFieldl a

(1) jTextFieldl a

2 a 1

(3) a JTextFieldl

void jButtonlnc_actionPerformed(ActionEvent e) {
a; //
a=Integer.parselnt(JTextFieldl.getText());
a= +1;
JTextFieldl.setText(String.valueOf(a));
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4-11

true false
enabled
selected
selected
4-11-1
name
name
jCheckBox1
jTextFieldl
true
false
ROl Wt i Fﬂs-a 1.
actionPerformed
selected
boolean OK
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: void jCheckBoxl_actionPerformed(ActionEvent e) {

: boolean a; //
: a=jCheckBox1. isSelected(); 7/

4: JTextFieldl_setText(String.valueOf(a));
5: }
boolean
selected
text
getSelected()
Java boolean
isSelected()
selected
true false
String.valueOf() OK
4-11-A

EAHOF-F7 [ [OX EAHOH-FA [- [OX
ESEANLTFR, ESEANLTFAL,
L0 SRR F AN

enabled
set ()

selected enabled
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